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n Hii= ES WA FIT#HE | &R
3 1 2 0 iz
2 1 0 iz
5 1 1 3 iz
2 3 0 iz
8 1 2 5 iz
2 1 5 iz
3 5 0 iz
11 1 2 8 iz
2 1 8 iz
3 8 BIEE
13 1 1 11 iz
2 3 8 iz
3 2 8 iz
4 1 8 iz
5 2 3 iz
16 1 2 13 iz
2 1 13 iz
3 2 11 iz
4 1 11 i3
5 11 A e
18 1 1 16 i3
) 16 AT R
3 2 13 iz
4 1 13 i3
5 13 BIEE

FHZAEFRMEE R » 78 n=100 N » 3,5,8,18,21,34,55,89 Ky Hh

2~ & m=3
n = ES FITHH | &%
4 1 3 0 i

2 2 0 i

3 1 0 iz




‘ 1 1 ! B
2 6 0 B
i ! 1 6 B
2 6 0 B
t 1 : 8 B
2 ! 8 %
. 8 0 B
P ! 3 I B
2 2 1l B
) ! I B
! 11 0 %
9 ! 3 15 TEEH
2 : 15 TR
) ! 15 B
4 15 0 B
. 1 1 19 B
- 4 15 B
3 3 15 B
4 2 15 B
: ! 15 %
6 15 0 W

FHFRARIRMTEEIR > & n=100 © 4,6,8,11,15,21,29,40,55,76 Fsr5EE

3 BB WIMFIELRACTERT - SIS o 2 m=2 B

F(2,1)=3=2+1

F(2,2)=5=3+2

F(2.3)=8=5+3

FQ4)=13=8+ 5

F(2,5)=21=13+8

F(2,6)=34=21+13

F(2,7)=55=34+21

F(2,8)=89=55+34

F LU FQ0=FQ2,x-D)+FQ2,x-2)+++(1)




B m=3 0% :
F(3,1)=4
F(3,2)=6
F(3,3)=8
F(3,4)=11
F(3,5)=15
F(3,6)=21
F(3,7)=29
F(3,8)=40
F(3,9)=55
F(3,10)=76
AT DUSE M F(3,x)=F(3,x-1)+F(3,x-4)-+++-+(2)

4~ BT ey EHR - BFARRMZEEE Fn,0f—#R
R — R A] 2 HE5E - NARREARE » Fr AR BB F T =T A
F17E F(m,1)=m+1
(t-1)m<F(m,x) =tm,
(t-I)m=F(m,x)-1<tm
[F(m,x) — 1]/m=t-1,
F(m,x+1)
=F(m,x)+1+[F(m,x)—1]/m
=F(m,x)+1+t-1
=F(m,x)+t
=F(m,x)+ [F(m,x)—1]/m
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BH n=100 FHIEER - T 1E0EEE | RS TTHUE T m B ERAYHIRS B S
F(m,x+1) = F(m,x)+ [F(m,x)—1]/ m, F(m,1)=m+1
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